&’ YKE 2%” POMPA

e .. YILDIZ INTERNAL ECCENTRIC
“ & POMPA GEAR PUMP
€ ipoap

POMPA DEGERLERI /
PUMP PROPERTIES

KULLANIM ALANLARI

. Fuel Qil Servis Tanklari, Gaz Yagi, Mazot
Tankerlerinde

o Regine ve Polimerler

o Asfalt ve Bitim

o Kagit ve Boya Sanayinde

o Kiguk capta kizgin yag sirkiilasyonlarinda
o ilag, kimya ve deterjan sanayinde

o Gida Sanayinde.

MALZEME SECENEKLERI

o Pompa Govdesi, Kapaklar : Dékme (pik)
demir, Sfero dékim, Celik dokiim, Paslanmaz
AISI 304- AISI 316 dokim

. Disliler : Sfero dokiim, Celik dokiim,
Paslanmaz AlSI 304- AISI 316 dokim
. Yataklar : Snbz 12 bronz, karbon grafit,

Silisyum Karbdr, Sert Metal Kaplama, rulman

. Sizdirmazlik: Yumusak Salmastra,
Rotatherm Salmastra, Mekanik salmastra. Kegeli
Sistem, Kartex Mekanik Salmastra

Q :25,5m3/h
Hm :1~ 14 Bar
T :0~ 200 2C
n :500 d/d
Visc. :100 ~ 250.000 SSU
USE AREAS
o Fuel Oil Service Tanks, Gasoil, Diesel
Tankers
. Resin and Polymer
o Asphalt and Bitumen
o Paper and Paint/dye industry
J Circulation of Hot Oil (limited)
o Medicine, Chemical and Detergent
Industry
o Food Industry.
MATERIAL OPTIONS
. Pump Body, covers : Pig Cast Iron,

Spheroidal Cast iron, Cast Steel, AlSI 304/316
CrNi Stainless Steel

o Gears : Spheroidal Cast iron, Cast Steel,
AlISI 304/316 CrNi Stainless Steel

. Bearings: Snbz 12 bronze, carbon
graphite, slicon carbide, hard metal coated steel,
bearing

. Sealing: Soft Seal or Packing Gland,
Rotatherm Seal, Lip Seal, Mechanical Seal,
Cartridge Type Mechanical Seal

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




Ty ® YKF 2%” POMPA

.j‘\\j%y . YILDIZ INTERNAL ECCENTRIC
e ) POMPA GEAR PUMP

ICTEN EKSANTIK DiSLi POMPA CALISMA PRENSIBI /
WORKING PRINCIPLE OF INTERNAL ECCENTRIC GEAR PUMP

Yildiz Pompa' nin "disli iginde disli" prensibinde sadece iki tane hareketli par¢a vardir. Biitiin
pozitif deplasmanli YILDIZ disli pompalarinin glivenilir ve verimli calismasinin sirri budur. Sivinin
pozitif deplasmani (yer degistirmesi) rotor ve avare dislisinin disleri arasindaki boslugun komple
dolmasiyla saglanmaktadir. Biitin disli pompalarda oldugu gibi, YILDIZ POMPA’ da da performansin
en Ust noktaya cikmasini sinirlayici yegane faktér, pompalanan sivinin digerlerine gére daha temiz
olmasini istemesidir.

Pompa milinin her devrinde emis agzi yoluyla belli bir miktar sivi pompaya girer. Bu sivi rotor
ile avare dislisi arasindaki boslugu doldurur. Pompa kapaginda bulunan hilal, ¢ikis agzina dogru
plrizsiz sekilde hareket eden sivinin akisini ayirir. Kendi disleri ile hilalin i¢ ylizeyi arasinda siviyi
tasiyan avare dislisi pompa kapaginin destekledigi bir mil (izerinde doner. Disleri arasinda siviyi
tastyan rotor dislisi pompa gévdesi ile hilalin dis ylizeyi arasinda hareket eder ve pompa miline
baglidir.

YILDIZ’s simple “gear-within a gear” principle has only two moving parts. It is the secret of
dependable, efficient operation of all positive displacement YILDIZ POMPA’s PUMPS. The positive
displacement of liquid is accomplished by the complete filling of the spaces between the teeth of the
rotor and idler gears. The only limiting factor to peak performance in YILDIZ POMPA, as with all rotary
pumps, is that the liquid pumped must be comparatively clean.

With every revolution of the pump’s shaft, a definite amount of liquid enters the pump
through the suction port. This liquid fills the spaces between the teeth of the rotor and the idler. The
crescent on the pump head splits the flow of liquid as it moves smoothly towards the discharge port.
The idler gear, which carries the liquid between its teeth and the inside surface of the crescent is
connected to pump cover. On the otherhand, rotor gear which is rotated directly with pump shaft
delivers the liquid between gear teeth and crescent’s souter surface.

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21

=




Ty @ YKF 2%” POMPA

>

o .. YILDIZ INTERNAL ECCENTRIC
g

& 4

‘t§ " POMPA GEAR PUMP

Yandaki renkli kisim sivinin pompa gévdesindeki emis
agzi alanina, rotor diglisi ve avare dislisi disleri arasindaki disli
bosluklari alanina girisini gosterir. iki siyah ok pompanin
donis ve sivinin ilerleyisini gosterir.

The yellow colored portion at side indicates the liquid
as it enters the suction port area of the casing and the area
between the rotor teeth and corresponding concave area
between the idler teeth. The two black arrows indicate the
pump rotation and progress of the liquid.

"Digli iginde disli" prensibinde ¢alisan digliler ile
pompa icinde sivinin ilerleyisine dikkat edin. Ayni zamanda,
pompa kapagi tzerindeki hilal seklinin siviyi nasil boldigine
ve emis ile bosaltma agizlari arasinda bir kece (conta) gibi
vazife gérdigiine dikkat ediniz.

Notice the progress of the liquid through the pump
and between the teeth of rotor idler gear. Also, note how the
crescent shape on the head divides the liquid and acts as a
seal between the suction and discharge ports.

Bu resim pompanin i¢ kisminin dolup sivinin bosaltma
agzi alanina itilmesinden hemen 6nceki durumunu
gostermektedir. Avare ve rotor dislilerinin dizayninin sivi igin
nasil bir kapali cep olusturduguna ve bunun tam bir hacim
kontroll saglanmasini nasil garantiledigine dikkat ediniz.

This illustration shows the pump in a nearly flooded
condition just previous to the liquid being forced into the
discharge port area. Notice how the gear design of the idler
and rotor form locked pockets for the liquid to guarantee
absolute volume control.

Bu goriintl pompanin tamamen dolup tastig durumu
ve sivinin bogaltma islemini, bosaltma agzindan ilerleyisini
gostermektedir. Emis ve bosaltma agizlarina esit mesafede
sizdirmaz bir kece olusturan, siviyi bosaltma agzindan disari
dogru iten, rotor ve avare dislisinin disleri birbiri icine geger.

The view shows the pump in a completely flooded
condition and in the process of discharging the liquid through
discharge port. The rotor and idler teeth mesh, forming a seal

equidistant between the both ports, forcing liquid out the
discharge port.

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




&2 YKF 2%" POMPA
Q\\\@ ) YILDIZ INTERNAL ECCENTRIC
e POMPA GEAR PUMP
iipoanp

YK-214" - YKF-2%4" - YKYF-2%" POMPASINA AIT KAPASITE VE GUC TABLOSU /
CAPACITY AND POWER TABLE

KAPASITE (mh) | | DEVIR (d/d) CIKI3 BASINCI / PRESSURE VISKOZITE
CAPACITY (Q) SPEED (rpm) 25 Bar _— — oba | viscosiry
3 60 2 HP 2 HP 3 HP 3HP 75.000 SSU
4 80 2 HP 3HP 4 HP 4HP 25.000 SSU
5 100 3HP 4 HP 5,5 HP 5.5 HP 25.000 SSU
10,5 200 5.5 HP 7,5 HP 7,5 HP 10 HP 25.000 SSU
13 250 5,5 HP 7,5 HP 7,5 HP 10 HP 7.500 SSU
18 350 5,5 HP 7,5 HP 10 HP 15 HP 2.500 SSU
23 450 5,5 HP 7,5 HP 10 HP 15 HP 750 SSU

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




: "; YKF 22" POMPA

s “ S
S22
€ YILDIZ INTERNAL ECCENTRIC
S POMPA GEAR PUMP
KAPASITE EGRILERI / CAPACITY GRAPHS
b
ud
% S % / \&
o / 53‘ - /r
; 54 15““) ; 2 / pR
o3 EREZSaAnR o S Pt
55 o e & T e
e 2 —1 = 17 BAS
2! = g $E2S mek st pREEY
= 7 = %
T L & T v///
z ST z SR
R 27 %/ i 8 |21 /‘/
g 17.03 / g 17.03 y/
> >
= =
L:) 11.36 7// (;5 11.36 7/
A o
S // VISC: 38 SSU 5 / VISC: 100 SSU
A 7 7 o
: Y
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600 700
PUMP SPEED (rpm)-POMPA DEVRI (d/d) PUMP SPEED (rpm)-POMPA DEVRI (d/d)
YK-25" - YKF-25" - YKYF-2'%5" YK-25" - YKF-215" - YKYF-25"
P =
s PZaER RS - R4
g - > P z \‘;&?5"’
\
-4 -4
- it . ////
o s AR o 5B
s + . MPZSs
— %
8 Z& g %4
o= 3 o=
—~ ‘g/ -
< umm L (% g ~ >V
=t N it N
§]22.7| / glzz 71 \yA"
. 74 . 7
S / o y/
> >
= =
6 11.36) / 6 11.36) /
< 74 < 74
=%} =%}
S s / VISC: 750 SSU Shsas / VISC: 2500 SSU
] L, ; »
¥ P4
7
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600
PUMP SPEED (rpm)-POMPA DEVRI (d/d) PUMP SPEED (rpm)-POMPA DEVRI (d/d)
YK-2%" - YKF-2%" - YKYF-25" YK-2%" - YKF-2%2" - YKYF-2%4"

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




§
Q

&L’ YKF 2%” POMPA
;if;;\ YILDIZ INTERNAL ECCENTRIC
' O

4 POMPA GEAR PUMP

20

a D
E 15 &n
=4
; 10 // 1BhS
@] L —
&7 1 — w%:
a bl /////"""'“— i
e —
ok /////
= 1o é%
=
g
3 2271
5 B2
g 17.03 /ﬁl
£ /
%:) 11.3 =~
=9 /
5B VISC: 7500 55U
! = =
0 50 100 150 200 250 300 350 400 45
PUMP SPEED (tpm)-POMPA DEVRI (&/d)
YK-212" - YKF-212" - YKYF-215"

> '
g?‘ a5
WP 0 e

Z
i
L gsP&R
==

HORSEPOWER (HP)

LY
\}\\

\\

VISC: 75000 SSUJ|

CAPACITY (Q)- Debi (m*h)

50 100 150 200 250

PUMP SPEED (tpm)-POMPA DEVRI (d/d)

20
[ N
T M5 o
o ERiaainice
L; 10 1~ "f
) | B
7
a i n 11— TBAR
Tl 0 4/
=
g |227
=
8 18.17 A
~ 0\% Pg'
g 13.63 2%
S
&
= 2
Ay
S lase ,/ VISC: 25000 58U
/
0 500 100 150 200 250 300 350
PUMP SPEED (rpm)-POMPA DEVRI (d/d)
YK-2V5" - YKF-215" - YKYF-215"
10
N
- N o®
-9 hS LA
= 2 // é "Bg L
5
-4 13-
ch; L
<y // 1
[-¥
3‘}3 ) 5| /%/
2 =
(=] %
T 0
=
g
£ o
A SE
g 6.51 %
&
t /\
2 454 ]
[-™
Sk / VISC: 250000 55U
v

25 50 75 100 125 150 175

PUMP SPEED (1pm)-POMPA DEVRI (d/d)

YK-25" - YKF-25" - YKYF-2'5"

YK-2V2" - YKF-25" - YKYF-215"

YILDIZ POMPA MAKINA SAN. TIC .LTD.

STI. Aydinli Mh. Birlik Org. San. Bél. 5.5k. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21




5" YKF 2%” POMPA

-

&sd
s\\ - _’.;7\. YILDIZ INTERNAL ECCENTRIC
R s POMPA GEAR PUMP
iipemmp
POMPA BOYUT OLCULERi / PUMP DIMENSIONS
YK 215" 165 YKF 2'5" 185 YKYF 215" 377
8 e 8 e
i a AN
oY /|
SN =Rip S
HHI T Byt T
180 —= 7 160 —= 7 180 o
220 KG. 220 KG. 220
77 65
467 206 467 1071
60 60 i
50 215! 50 R1" 25
BXY‘\ I 8)(7j (T - |
@ ) — (| o &
., B LK _ — ___3@’; e
7—[& 1 /) . g &
% o 2 C
= - = L
274 [[100.93 ey 274 100]193_|
133 69 133

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




0 © YKF 2% POMPA <

7
?ﬁ;\;) YILDIZ INTERNAL ECCENTRIC
& POMPA GEAR PUMP
Q
AKUPLAJ OLCULERI / COUPLING DIMENSIONS
REDUKTOR AKUPLELI / GEARBOX DRIVE
YKF 2"
185 |
§21
YKYF 24"
337
=]
3
@21 100 500 100
700
WAL
MOTOR GUC VE DEVIRLERI / 1 HD | H [ ke. YK 2% _165
MOTOR POWER AND SPEED |
3J-4hp / 22-3kw o
47/98 4/d (rprrli)) [IRAMB3/100C 1077 375 141 1501153 ©
5,5hp/ 4kw ]
§7/93 d/d (rpm) _ |IRAME3/112M 1098 | 383|149 155 o
R
L @21

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




®

/

%

-

/A

7

)

“ & POMPA

g 55 YILDIZ

YK 2%4"

YKF 22" POMPA
INTERNAL ECCENTRIC

GEAR PUMP

Y]
w I
A o
I 1
L
w
= 21
100 B 100
C
YKYF 2'5" 377
I
[a=y [am]
[ap] T -
o
x
Lo
w |
@21 1[]0! B 100
C
YKF 214" 185
MOTOR GUC VE DEVIRLERI / kg, ey
MOTOR POWER AND SPEED —
55hp/ 4kw | 75hp/55kw o
87/480 d/d(rpm) | 210/450 c/d(rpm) 1008| 383 | 149 | 500 700 153168 =
RAM62/112M |IRAMB2/C112M
(Kp)
7500/ 5.5 kw 12
757210 d/d(pm) [RAM72/1325 1130 310 | 350| 179
10hp /750w | 15hp /11 kw 411|182 | 600 D '
93/450 d/d{rpm) | 200/450 d/d{rpm) 1236 800 190/192 £
TRAM72/132M [IRAM72/C132M
20 hp /15 kw
130/450 4/0(rpm) | IRAMIB2/160L 14201 457 | 225 | 680 390 | 4307 330

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21

@21




&L’ YKF 2%” POMPA
5;\..; YILDIZ INTERNAL ECCENTRIC
t§ POMPA GEAR PUMP

Upemp

KAYIS KASNAK AKUPLELi POMPA OLCULERI /
BELT PULLEY COUPLING PUMP DIMENSIONS

YKF 2)5"
500 201

Pompa Devirleri /

MOTOR GUC VE DEVIRLERI / Pump speeds

MOTOR POWER AND SPEED

nl ni ni n4

did]| d/d| d/d| d/d
55hp /4 kw MOTOR 112M 180
7,5hp /5,5 kw MOTOR 1325 680 | 980 | 390 | 430 | 195
10hp /75kw MOTOR 132M 450|400 | 350 | 310| 180 | 180 | 245 | 245 205
15hp /11 kw MOTOR 160M 950 |1150 | 530 | 570 | 260

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




YKF 22" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

SX ») YILDIZ
,& POMPA
Upommp

YEDEK PARCA LISTESi / SPARE PARTS LIST
YUMUSAK SALMASTRALI VE BYPASSLI / SEALED WITH SOFT SEAL AND PRESSURE RELIEF
VALVE ON COVER

13 14 16 17 21 22 23 24 25
10 11 12 39 ‘

26 13 27 28

7 65 8 9

No PARCA iSmi PART NAME ADET/ No PARCA iSMi PART NAME ADET/
Qry.
1 KAMA 8x7x50 AB COULPING KEY 8x7x50 AB. 1 22  CEVRE DLl * ROTOR GEAR 1
2 KiLiT SOMUNU LOCK NUT 1 23 AVARADiSLi IDLER GEAR 1
3 KILIT SACI LOCK WASHER 1 24  AVARA DiSLi BURCU IDLER BUSHING 1
4 BILEZIK SPACER 1 25  KAPAK MiLi COVER PIN 1
5  AYAR SOMUNU ADJUSTING NUT 2 26  KAPAK (BYPASSLI) COVER (w/ BYPASS INLETS) 1
6  KEGE ¢40xp62x10 LIP SEAL p40x@62x10 2 27  BYPASS CONTASI BYPASS GASKET 2
7  RULMAN (3207) BALL BEARING (3207) 1 28  BYPASS PRESSURE RELIEF VALVE - 1
BYPASS
8  SALMASTRA BASKISI PACKING PRESS 1 29 6 KOSE CIVATA M8x25 HEX BOLT M8x25 8
9  YUMUSAK SALMASTRA SOFT SEAL / PACKING GLAND ~ 1TK. 30  BYPASS O-RING BYPASS O-RING 1
10 KONSOL BURCU BRACKET BUSHING 1 31  KLEPE VALVE 1
11 MiL SHAFT 1 32 YAY SPRING 1
12 KAMA 10x8x35 A ROTOR KEY 10x8x35 A 1 33  PUL WASHER 1
13 6 KOSE CIVATA M12x35  HEX BOLT M12x35 15 34  BYPASS KAPAGI BYPASS COVER 1
14  KONSOL BRACKET 1 35  TiJ KAPAK O-RING CAP O-RING 1
15  KONSOL (CEKETLI) BRACKET (w/ HEATING 1 36 M12 SOMUN NUT M12 1
JACKET)
16  KONSOL CONTASI BRACKET GASKET 1 37 6 KOSE CIVATA M12x80 ADJUSTING SCREW 1
M12x80
17 ARA GOVDE (BORU DiSLi  CASING (w/ 90° THREADED 1 38  TiJ KAPAGI CAP 1
90°) PORTS)
18  ARA GOVDE (FLANSLI CASING (w/ 90° FLANGED 1 39 GRESORR3/8" GREASING FITTING R3/8" 1
90°) PORTS)
19  ARA GOVDE (FLANSLI CASING (90° FLANGED 1 40 SETUSKUR M10x16 GRUB SCREWS M10x16 4
CEKETLi 90°) PORTS & w/ HEATING
JACKETS)
20  ARA GOVDE ( FLANSLI CASING (w/ 180° FLANGED 1 41  M10 SOMUN NUT M10 2
180°) PORTS)
21 KAPAK CONTASI COVER GASKET 1 42 4 KOSE SALMASTRA BASKI  SQUARE SCREW M10x70 2
CIVATASI M10x70

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




YKF 22" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

=" YILDIZ
€D POMPA

R

Upemp

YEDEK PARCA LISTESI / SPARE PARTS LIST
YUMUSAK SALMASTRALI, CEKETLi VE KOR KAPAKLI / SEALED WITH SOFT SEAL, JACKETED,
AND WITH BLIND COVER

13 1416 17 21 22 23 24 25 26 13

1 2 3 456 7 65 8 9 10 11 12 28

PARCA ismi PART NAME PARCA ismi PART NAME
1 KAMA 8x7x50 AB COULPING KEY 8x7x50 1 17  ARA GOVDE (BORU DiSLi  CASING (w/ 90° 1
AB 90°) THREADED PORTS)
2 KiLiT SOMUNU LOCK NUT 1 18  ARA GOVDE (FLANSLI CASING (w/ 90° FLANGED 1
90°) PORTS)
3 KiLTSACI LOCK WASHER 1 19  ARA GOVDE (FLANSLI CASING (90° FLANGED 1
CEKETLI 90°) PORTS & w/ HEATING
JACKETS)
4  BILEZIK SPACER 1 20  ARA GOVDE ( FLANSLI CASING (w/ 180° 1
180°) FLANGED PORTS)
5  AYAR SOMUNU ADJUSTING NUT 2 21 KAPAK CONTASI COVER GASKET 2
6  KEGE 40xp62x10 LIP SEAL p40x@62x10 2 22 GEVRE DiSLi ROTOR GEAR 1
7  RULMAN (3207) BALL BEARING (3207) 1 23 AVARA DisLi IDLER GEAR 1
8  SALMASTRA BASKISI PACKING PRESS 1 24 AVARA DiSLi BURCU IDLER BUSHING 1
9  YUMUSAK SALMASTRA SOFT SEAL / PACKING TK. 25  KAPAK MiLi COVER PIN 1
GLAND
10  KONSOL BURCU BRACKET BUSHING 1 26 KAPAK (KOR) BLIND COVER 1
11 MiL SHAFT 1 27  KAPAK (CEKETLI) COVER (w/ HEATING 1
JACKET)
12 KAMA 10x8x35 A ROTOR KEY 10x8x35 A 1 28  GRESOR R3/8" GREASING FITTING R3/8" 1
13 6 KOSE CIVATA M12x35 HEX BOLT M12x35 15 29  SETUSKUR M10x16 GRUB SCREWS M10x16 4
6 KOSE CIVATA M12x40 HEX BOLT M12x40 FOR 7
(CEKETLI KAPAK iGIN) COVER w/ HEATING
JACKET
14 KONSOL BRACKET 1 30 M10SOMUN NUT M10
15  KONSOL (CEKETLI) BRACKET (w/ HEATING 1 31 4 KOSE SALMASTRA SQUARE SCREW M10x70
JACKET) BASKI CIVATASI M10x70
16  KONSOL CONTASI BRACKET GASKET 1

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. Bél. 5.Sk. No:7 Tuzla / ISTANBUL

Tel : (0216) 378 64 21




YKF 22" POMPA

S ) YILDIZ INTERNAL ECCENTRIC
s POMPA GEAR PUMP
€ ipossp

YEDEK PARGA LISTESi / SPARE PARTS LIST
MEKANIK SALMASTRALI VE BYPASSLI / SEALED WITH MECHANICAL SEAL, AND PRESSURE
RELIEF VALVE ON COVER

14 1517 18 22 23 24 25 26 27 14 2829
1 2 3 456 7 65 8 98 101112 13 40 1

| _ 30
000 et -
°
31
pll
d 32
é —33
@ 34
. -35
o 36
o 37
g' 38
.— 39
No  PARCGAismi PART NAME ADET/ No PARCA iSMi PART NAME ADET/
Qry.
1 KAMA 8x7x50 AB * COULPING KEY 8x7x50 AB 1 22 KAPAKCONTASI * COVER GASKET 1
2 KiLIT SOMUNU LOCK NUT 1 23 CEVRE DiSLi ROTOR GEAR 1
3 KiLIT SACI LOCK WASHER 1 24  AVARA DisLi IDLER GEAR 1
4 BILEZiK SPACER 1 25  AVARA DiSLi BURCU IDLER BUSHING 1
5 AYAR SOMUNU ADJUSTING NUT 2 26 KAPAK MiLi COVERPIN 1
6 KEGE ¢40xp62x10 LIP SEAL p40x@62x10 2 27  KAPAK (BYPASSLI) COVER (w/ BYPASS INLETS) 1
7 RULMAN (3207) BALL BEARING (3207) 1 28  BYPASS CONTASI BYPASS GASKET 2
8 iC SEGMAN (68) INTERNAL CIRCLIP (¢68) 2 29  BYPASS PRESSURE RELIEF VALVE - 1
BYPASS
9 KECE ¢40xp68x10 LIP SEAL p40x@68x10 1 30 6 KOSE CIVATA HEX BOLT M8x25 8
M8x25
10 RULMAN (6008) BALL BEARING (6008) 2 31  BYPASS O-RING BYPASS O-RING 1
11 MEKANIK SALMASTRA MECHANICAL SEAL $40 1 32 KLEPE VALVE 1
@40
12 MiL SHAFT 1 33 YAY SPRING 1
13 KAMA 10x8x35 A ROTOR KEY 10x8x35 A 1 34 PUL WASHER 1
14 6 KOSE CIVATAM12x35  HEX BOLT M12x35 15 35  BYPASS KAPAGI BYPASS COVER 1
15 KONSOL BRACKET 1 36  TiJ KAPAK O-RING CAP O-RING 1
16 KONSOL (CEKETLI) BRACKET (w/ HEATING 1 37 M12 SOMUN NUT M12 1
JACKET)
17 KONSOL CONTASI BRACKET GASKET 1 38 6 KOSE CIVATA ADJUSTING SCREW M12x80 1
M12x80
18  ARA GOVDE (BORU DiSLi  CASING (w/ 90° 1 39  TiJ KAPAGI CAP 1
90°) THREADED PORTS)
19  ARA GOVDE (FLANSLI CASING (w/ 90° FLANGED 1 40 GRESORR3/8" GREASING FITTING R3/8" 2
90°) PORTS)
20  ARA GOVDE (FLANSLI CASING (90° FLANGED 1 41  SETUSKUR M10x16 GRUB SCREWS M10x16 4
CEKETLI 90°) PORTS & w/ HEATING
JACKETS)
21 ARA GOVDE (FLANSLI CASING (w/ 180° 1
180°) FLANGED PORTS)

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




YKF 22" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

=" YILDIZ
€D POMPA

R

Upemp

YEDEK PARCA LISTESI / SPARE PARTS LIST
MEKANIK SALMASTRALI, CEKETLI VE KOR KAPAKLI / SEALED WITH
MECHANICAL SEAL, JACKETED, AND WITH BLIND COVER

14 1517

18 22 23 24 25 26 27 14
1 2 3 456 7 65 898101112 13 29

28

No PARCA isMi PART NAME ADET/ No PARGA ismi PART NAME
Qry.
1 KAMA 8x7x50 AB COULPING KEY 8x7x50 AB 1 16  KONSOL (CEKETLI) BRACKET (w/ HEATNG
JACKET)
2 KiLIT SOMUNU LOCK NUT 1 17  KONSOL CONTASI BRACKET GASKET
3 KILIT SACI LOCK WASHER 1 18 ARA GOVDE (BORU CASING (w/ 90° THREADED
DiSLi 90°) PORTS)
4  BILEZIK SPACER 1 19  ARA GOVDE (FLANSLI CASING (w/ 90° FLANGED
90°) PORTS)
5  AYARSOMUNU ADJUSTING NUT 2 20 ARA GOVDE (FLANSLI CASING (90° FLANGED
CEKETLi 90°) PORTS & w/ HEATING
JACKETS)
6  KEGE p40x@62x10 LIP SEAL p40x@62x10 2 21 ARA GOVDE ( FLANSLI CASING (w/ 180° FLANGED
180°) PORTS)
7  RULMAN (3207) BALL BEARING (3207) 1 22 KAPAK CONTASI COVER GASKET
8  ICSEGMAN (68) INTERNAL CIRCLIP (¢68) 2 23 CEVRE DiSLi ROTOR GEAR
9  KEGE p40xp68x10 LIP SEAL p40xg68x10 1 24  AVARA DiSLi IDLER GEAR
10 RULMAN (6008) BALL BEARING (6008) 2 25  AVARA DiSLi BURCU IDLER BUSHING
11  MEKANIK SALMASTRA MECHANICAL SEAL @40 1 26 KAPAK MiLi COVER PIN
@40
12 MiL SHAFT 1 27  KAPAK (KOR) BLIND COVER
13 KAMA 10x8x35 A ROTOR KEY 10x8x35 A 1 28  KAPAK (CEKETLI) COVER (w/ HEATING
JACKET)
14 6 KOSE CiVATA M12x35 HEX BOLT M12x35 15 29 GRESORR3/8" GREASING FITTING R3/8"
6 KOSE CIVATA M12x40  HEX BOLT M12x40 FOR 7
(CEKETLI KAPAK iCiN) COVER w/ HEATING
JACKET
15 KONSOL BRACKET 1 30 SETUSKUR M10x16 GRUB SCREWS M10x16

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




€=

YKF 22" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

YILDIZ
t§ - POMPA
Upemp

YEDEK PARGA LISTESi / SPARE PARTS LIST
KECELI, CEKETLI VE KOR KAPAKLI / SEALED WITH LIP SEAL, JACKETED
AND WITH BLIND COVER

131416 17 21 22 23 24 25 26 13

2 3 456 7 635 8 9 10 11 12 28
|

PARGA ismi

PART NAME

PARGA ismi

PART NAME

1 KAMA 8x7x50 AB COULPING KEY 8x7x50 AB 16  KONSOL CONTASI BRACKET GASKET

2 KiliT SOMUNU LOCK NUT 1 17  ARA GOVDE (BORU CASING (w/ 90° THREADED 1
DiSLi 90°) PORTS)

3 KiLTSACI LOCK WASHER 1 18  ARA GOVDE (FLANSLI CASING (w/ 90° FLANGED 1
90°) PORTS)

4  BILEZIK SPACER 1 19  ARA GOVDE (FLANSLI CASING (90° FLANGED PORTS 1
CEKETLI 90°) & w/ HEATING JACKETS)

5  AYAR SOMUNU ADJUSTING NUT 2 20 ARA GOVDE ( FLANSLI  CASING (w/ 180° FLANGED 1
180°) PORTS)

6  KEGE g40xp62x10 LIP SEAL p40xp62x10 2 21 KAPAK CONTASI COVER GASKET 2

7  RULMAN (3207) BALL BEARING (3207) 1 22 GEVRE DisLi ROTOR GEAR 1

8  iC SEGMAN (¢56) INTERNAL CIRCLIP (#56) 1 23 AVARA DiSLi IDLER GEAR 1

9  KECE p40xp56x10 LIP SEAL p40x@56x10 3 24  AVARA DiSLi BURCU IDLER BUSHING 1

10  KONSOL BURCU BRACKET BUSHING 1 25  KAPAK MiLi COVERPIN 1

11 MiL SHAFT 1 26 KAPAK (KOR) BLIND COVER 1

12 KAMA 10x8x35 A ROTOR KEY 10x8x35 A 1 27  KAPAK (CEKETLI) COVER (w/ HEATING JACKET) 1

13 6 KOSE CIVATA M12x35  HEX BOLT M12x35 15 28 GRESORR3/8" GREASING FITTING R3/8" 1

6 KOSE CiVATA M12x40  HEX BOLT M12x40 FOR 7
(CEKETLI KAPAK iGIN) COVER w/ HEATING
JACKET
14 KONSOL BRACKET 1 29  SETUSKUR M10x16 GRUB SCREWS M10x16 4
15  KONSOL (CEKETLI) BRACKET (w/ HEATING 1

JACKET)

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. Bél. 5.Sk. No:7 Tuzla / ISTANBUL

Tel : (0216) 378 64 21




YKF 22" POMPA

S ) YILDIZ INTERNAL ECCENTRIC
s POMPA GEAR PUMP
€ ipossp

YEDEK PARGA LISTESi / SPARE PARTS LIST
KARTEXLi VE BYPASSLI / SEALED WITH CARTEX MECHANICAL SEAL, AND PRESSURE RELIEF
VALVE ON COVER

15 16 17 22 23 24 25 26 27 15 28 29

14

6 7 68 9 10 11 12 13 14 4f

O 31
41 3" 32
g 33
19 & 3
@ -
O 38
e 37
Q- —-38
¢ .
No  PARCA isMmi PART NAME o  PARCA iSMi PART NAME :\»] 37
e | N © L
1 KAMA 8x7x50 AB COULPING KEY 8x7x50 AB 1 22 KAPAK CONTASI COVER GASKET 1
2 KiLIT SOMUNU LOCK NUT 1 23 CEVRE DisLi ROTOR GEAR 1
3 KILIT SACI LOCK WASHER 1 24 AVARA DiSLi IDLER GEAR 1
4 BILEZIK SPACER 1 25 AVARA DiSLi BURCU  IDLER BUSHING 1
5 TAMBUR KAPAKGI PULLEY COVER 1 26 KAPAK MiLi COVER PIN 1
6 KEGE ¢40xp62x10 LIP SEAL p40xp62x10 2 27 KAPAK (BYPASSLI) COVER (w/ BYPASS 1
INLETS)
7 RULMAN (3207) BALL BEARING (3207) 1 28 BYPASS CONTA BYPASS GASKET 2
8 SETUSKUR M8x16 STAY BOLT M8x16 4 29 BYPASS PRESSURE RELIEF 1
VALVE - BYPASS
9 TAMBUR PULLEY 1 30 6 KOSE CiVATA ADJUSTING SCREW 8
M8x25 M8x25
10 6 KOSE CiVATA M10x45 HEX SOCKET M10x45 2 31 BYPASS O-RING BYPASS O-RING 1
11 KARTEX MEKANIK CARTEX MECHANICAL SEAL @40 1 32 KLEPE VALVE 1
SALMASTRA @40
12 KONSOL BURCU BRACKET BUSHING 1 33 YAY SPRING 1
13 MiL SHAFT 1 34 PUL WASHER 1
14 KAMA 10x8x35 A ROTOR KEY 10x8x35 A 1 35 BYPASS KAPAGI BYPASS COVER 1
15 6 KOSE CiVATA M12x35 HEX SOCKET M12x35 15 36  TiJ KAPAK O-RING CAP O-RING 1
16 KONSOL (CARTEX CEKETLI) BRACKET 1 37 M12 SOMUN NUT M12 1
17 KONSOL CONTASI BRACKET GASKET 1 38 6 KOSE CiVATA ADJUSTING SCREW 1
M12x80 M12x80
18 ARA GOVDE (BORU DiSLi CASING (w/ 90° THREADED 1 39 Ti) KAPAGI CAP 1
90°) PORTS)
19 ARA GOVDE (FLANSLI 90°) CASING (w/ 90° FLANGED PORTS) 1 40 GRESOR R3/8" GREASING FITTING 1
R3/8"
20 ARA GOVDE (FLANSLI CASING (90° FLANGED PORTS & 1 41 SETUSKUR M10x16 GRUB SCREWS 2
CEKETLI 90°) w/ HEATING JACKETS) M10x16
21 ARA GOVDE ( FLANSLI 180°)  CASING (w/ 180° FLANGED 1
PORTS)

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




YKF 22" POMPA

.. YILDIZ INTERNAL ECCENTRIC
s  POMPA GEAR PUMP

t

Upemp

YEDEK PARGA LISTESi / SPARE PARTS LIST
KARTEXLi VE CEKETLi KOR KAPAKLI / SEALED WITH CARTEX MECHANICAL SEAL, JACKETED
AND WITH BLIND COVER

15 16 17 24 25 26
1 234 5 6 7 68 9 1011 12 13 14 2 RIGRE 8. 28 @5 289 2r 1o

No PARCA isSmi PART NAME ADET/ No PARGA iSMi PART NAME ADET/
Qry. Qry.
| 1 KAMA 8x7x50 AB COULPING KEY 8x7x50 1 16  KONSOL (CARTEX CEKETLi) BRACKET (WITH CARTEX, 1
AB JACKET AND MECHANICAL
SEAL)
2 KiLiT SOMUNU LOCK NUT 1 17 KONSOL CONTASI BRACKET GASKET 1
3 KILIT SACI LOCK WASHER 1 18  ARA GOVDE (BORU DiSLi CASING (w/ 90° THREADED 1
90°) PORTS)
4 BILEZIK SPACER 1 19  ARA GOVDE (FLANSLI90°)  CASING (w/ 90° FLANGED 1
PORTS)
5  TAMBUR KAPAKGI PULLEY COVER 1 20 ARA GOVDE (FLANSLI CASING (90° FLANGED 1
CEKETLIi 90°) PORTS & w/ HEATING
JACKETS)
6  KEGE ¢40xp62x10 LIP SEAL @40x@62x10 2 21 ARA GOVDE ( FLANSLI CASING (w/ 180° FLANGED 1
180°) PORTS)
7  RULMAN (3207) BALL BEARING (3207) 1 22 KAPAK CONTASI COVER GASKET 2
8  SETUSKUR M8x16 STAY BOLT M8x16 4 23 CEVRE DisLi ROTOR GEAR 1
9  TAMBUR PULLEY 1 24  AVARA DisLi IDLER GEAR 1
10 6 KOSE CiVATA M10x45 HEX SOCKET M10x45 2 25  AVARA DiSLi BURCU IDLER BUSHING 1
11  KARTEX MEKANIK CARTEX MECHANICAL 1 26  KAPAK MiLi COVER PIN 1
SALMASTRA (40 SEAL @40
12 KONSOL BURCU BRACKET BUSHING 1 27  KAPAK (KOR) BLIND COVER 1
13 MiL SHAFT 1 28  KAPAK (CEKETLI) COVER (w/ HEATING 1
JACKET)
14  KAMA 10x8x35 A ROTOR KEY 10x8x35 A 1 29 GRESORR3/8" GREASING FITTING R3/8" 1
15 6 KOSE CiVATA M12x35 HEX BOLT M12x35 15 30 SETUSKUR M10x16 GRUB SCREWS M10x16 2
6 KOSE CiVATA M12x40 HEX BOLT M12x40 FOR 7
(CEKETLI KAPAK ICIN) COVER w/ HEATING
JACKET

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.5k. No:7 Tuzla / iSTANBUL
Tel : (0216) 378 64 21




